RRABIRBIEAR
B70E FNEERRRFAELGRBEE

OF/NEXRFRRFAEHE

1. RREBIRFZMESGR (BRE. KF. 25, &) FER206F54 /. F£70EHERN
ENABTEER. CORFREZDOREREFLEDFELE,

2. AERFR  FH26F1~3 A

3. FENE  BAF/NEZE 160 FXFT
RE-KF=%00FXp. 25 HH=F25FXEmM

4. [ 4 K 1164 (77.3%)

5. & g BS | &=
X=LF -BM. Y=F%E @A, Z=§D T
BSI=1/2 (X—=2Z) {EL (X+Y+Z) =100%

[RIEEREALE] ((EA 25 £ 1~3 ALb)

BReEBEOFELEEIE ML 1] EEHI1TFE1~3 BHLBETIERISVVKELLRY FL
=, 2#@R CIIEEENBHICER 26 £ 10~12 A) M5 6.4 R4V MR- E=H5DOD,
RENBRFIEFHE LIEH, HFEENGH 16.7) 25656 R4V 7wy Td 122 3],
INGREMEIHR 10.00 B 19T RAV Ty TO M 1], b—EXRELFE 144 i i5
6.7 RAVETyZTD M1.1] &Y, FFREENRTIAAFEEZ LoMYERYRAALLER
ERYFELE, INERR, ERHMES—EXEEZRWNTTISIRERGY, HFEE, /NFEE
DEEMNFICEI>TWET,

[CREAR B L] (FR 26 F4~6 BR@L)

BEHREORFERML, TLE, KR, XAHMELRBEIAFTIAFRAERY,
EERECELVHBALEN > TWET, T EETIFREIEREA -5 9 SFRUEEMN 1-23. 2]
ERMBEBAEZ FRIL. BERE. HEX, NTXORBEABRZISINTNET, ZDEH,
FOMPIET T HEIFEEA [-22. 21, /NFEZEM [-32.5] & —Bn L TRIBREELOELWNEEL
EBO2THY, SEROEEHAIMBHO TFESNIF/E LB >TVET,

(&t OREA]

SHERLTWIRE LOBBERTE, THEERIE] B2ED 16 9%EH5HThY I T
Lo 2A712(& TIRME - A ANER EF ] D 16. 7%, 3H7lE THE - FEDOEE] 0 12. 9%
EBHO>TWVWEY, XTIk, M4 ALUBEDOFEY EIFETISXT 5 /N bER T RIER O
ESEME kDD (BEXE)GREHERERROMERERDDIFDEH, [F/NEEDFKE
BRE BRI 2HPESOILTEELE, FREEOAEBESINBAT TS (GBERFE) L
WSELWEREHY F LI,




AR 251 ~3A L X () A AIFERPOKRKER

EIEVE o B R = 5o b B BEwigY EARE IEE S/ E DAL

ElE 16 15,1 ( -7.1)] 7.5 ( -7.2)] 0.4 ( -50)] 33 ( -1.4) 31 (C -6.1) 31( -7.4)

B E X 34 89(-100)] -29( -43)] -44( -1.5)] -6.1( -1.5)] 30(C -1.5)] 7.4( -29)

JEREZE 821 17.7( -5.8) 121 ( -84) 2.7 -6.5) 7.4 -1.3) 31 -80) 1.2( -9.1)

E#EZE[26]180C 80) 000-10.4) 83C -40) 131 42)[10.0C 40)f 60C 40)

(0 55 ) [ 18| 223 (-21.6) 223 ( 0.0) 29(C -7.2)| 53 ( -24)| 56 (-19.1) 56 (-21.4)

UhsEE [ 211910 -7.2) 238 ( -25)| =721 (-11.9)| =27 ( -26)| 24 (-143) 00 (-11.9)

(F—ER%E | 18 1.1 ( -6.3)] 29(-20.0)] 7.2( -2.8)] 15.4( -7.2)| -8.8( -48)| -89 ( -9.5)

RHRAE L 2684~ 6F R L X () RN AIERPORBR

B | % = Gl ==L EeeyY AR N RS el

ESlE ] 116]-18.1 ( -6.0)] 0.9( -6.4)] -6.0(C -6.7)] -29( -3.6)|-13.1( -7.6)|-149 (-10.2)

8l E % 341 -5.9( 10.0) -1.6 ¢ 29) -5.9( -1.4)] -7.6 ( -3.0)| -45( 10.0)| -7.4(C 57)

FFEIER 82 |-23.2 (-11.1) 1.9C -88) -47(C -7.5) -0.7( -3.9)[-16.7 (-14.6)[-18.1 ( -17.8)

(B & FE|26]-2.0(0-125) 66( 6.6) -21( -42) 87 00)[-120(-16.7)| -84 (-146)

(# ) [18]-27.8(-19.1)] 28( -48) -30(C -9.5) 5.6 ( -48)[-25.0(-21.4)[-22.2 (-26.2)

ch

GUNFEZFE [ 2130 (-11.9) 00C -9.6)[-11.9 (-143)[-10.6 ( -5.3)[-21.4 ( -16.7)[-32.5 ( -20.0)

(F—Ex%) | 18 1-13.9( 00)] -3.2(-15.0)] 00C 00)] 39( -6.7) -8.8( -26)|-147( -7.1)

BSI1=1/2(X-2) X=~Et5 - #m Y=T"% - #/N\A Z=@d - T BL (X+Y+Z)=100%



